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3 point problems ( Oéuata 3 povadwv)

1. How many of the following four numbers are prime? 2, 20, 202, 2020
Moéool and Toug EMOPEVOUC TECOEPELG apLlBUOUC ival mpwToy; 2, 20, 202, 2020

(A)o (B)1 (C)2 (D)3 (E)4

2. In which of the regular polygons below is the marked angle the largest?
2€ TIOLO QA0 TO KOWOVIKA TIOAUYwVa Tou akoAouBoUV n onuelwpévn ywvia eivat n peyoAitepn;

(A) (8) () N (E)

3. Miguel solves six Olympiad problems every day and Lazaro solves four Olympiad problems every
day. How many days does it take Lazaro to solve the same number of problems as Miguel solves in
four days?

O MuixaAng AUvel kaBnueptva £EL tpoBAnpata OAvpmadag kat o Adlapog AUveL kaBnuepva
téooepa npoPfAnuata OAvprniadag. Noosg pépeg xpetaletal o Aalapog va emAUCoEL ToV (610 aplBuo
TMPoBANUATWY TToU 0 MIXAANG AUVEL O TEGOEPLC NUEPEC;

(A)4 (B)S (6 (D)7 (E)8

4. Which of these fractions has the largest value?
Moto ard Ta KAACUOTA QUTA €XEL TN LEYOAUTEPN TLUR;

8+5 8 3+5 8+3 3
S5 B 05 O (Bgg

(A)
5. A large square is divided into smaller squares. In one of the squares a diagonal is also drawn.
What fraction of the large square is shaded?

‘Eva LeEYAAO TETPAYWVO XWPLIETOL O PLKPOTEPA TETPAYWVA. € £VA OO TA TETPAYWVA OXNMaTI(ETOL
eniong pa dtaywviog. NMolo KOUUATL TOU TETPAYWVOU £VaL OKLACUEVO;

(A)

ut |

(8)> (0

O | >

(D)

W=

(E)5
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6. There are 4 teams in a soccer tournament. Each team plays every other team exactly once.

In each match, the winner scores 3 points and the loser scores 0 points. In the case of a draw, both
teams score 1 point. After all matches have been played, which of the following total number of
points is it impossible for any team to have scored?

Ynapxouv 4 ouddeg o £va Toupvoud modoodaipou. Kabe opdada nailel kaBs GAAN opada pia
dopa. I KABe aywva, o VIKNTAG Talipvel 3 TOVTOUG KAl 0 NTTNUEVOC aipvel O TTOVTOUG.

2tnv nepimtwon womnaAiog, Kat ot 800 opdadeg naipvouy amnd 1 nmévto. Metd and 6Aoug Toug
OYWVEC, TTOLO OItd Ta MAPAKATW CUVOAA TTOVIWY £ival adUvaTto yLo omoladNToTe opada va MeETUXEL

(A)4 (B)5 (C)6 (D)7 (E)8

7. The diagram shows a shape made up of 36 identical small triangles. What is the smallest number
of such triangles that could be added to the shape to turn it into a hexagon?

To diaypappa deixvel £va oxrua amoteAoVEVO amo 36 MavouoLlOTUTIA HLKpa Tpiywva. MNotog ivat o
ULKPOTEPOC APLOUOC TETOLWV TPLYWVWV TTou Ba pmopolcayv va pootebolv oTo oxnua yla vo
uetatparnei og e€aywvo;

(A)10 (B)12 (C)15 (D)18 (E)24

8. Kanga wants to multiply three different numbers from the following list: =5, —3, —1, 2, 4, and 6.
What is the smallest result she could obtain?

H KoUAa B€Ael va toAAamAaoLdoel Tpelg StadopeTikol aplBoud amno tnv akoloubn Alota: -5, -3,
-1, 2, 4 koL 6. Nolo eival To HKPOTEPO amoTéAECHA TTou Ba prmopoloe va Ppel;

(A) =200 (B) —120 (C)—90 (D) -—48 (E) =15

9. If John goes to school by bus and walks back, he travels for 3 hours. If he goes by bus both ways,
he travels for 1 hour. How many hours does it take him if he walks both ways?

Av o Tavvng mnyaivel oto oxoAeio pe Aswdopeio kat emiotpédel pe ta modia, Tafldevel yla 3 WPEG.
Av Ttael pe to Aewdopeio kot otig dUo Stadpopeg, Takdevel yio 1 wpa. Mdoeg wPeC Tov alpveL av
TIEPTATAOEL Kol 0TLG SU0 SLoSpOpEC;

(A)3,5 (B) 4 (C)4,5 (D)5 (E)5,5
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10. A number is written in each cell of a 3 X 3 square. Unfortunately the numbers are not visible
because they are covered in ink. However, the sum of the numbers in each row and the sum of the
numbers in two of the columns are all known, as shown by the arrows on the diagram.

What is the sum of the numbers in the third column?

‘Evag aplBuog ypadetal o KAOE TETPAYWVAKL EVOC TETpAYWVOU 3 x 3. AuoTUXWG oL aplBuot Sev eivat
opartol emeldn koaAumtovral pe pehdvt. Qotdoo, To dBpolopa Twv aplBpwy os KABE oelpd Kal To
aBpolopa Twv aplBuwyv g U0 amo TI¢ oTHAEG elval OAa yvwotd, onwg paivetal amno ta BEAn oto
Slaypappa. Moto eivat To aBpolopa Twv aplBuwv otnv Tpitn otnAn;

—p 24

—>26

—> 40

27 20

(A)41 (B)43 (C)44 (D)45 (E)47
4 point problems (Ouata 4 uovadwv)

11. Mary has exactly 10 white cubes, 9 light grey cubes and 8 dark grey cubes, all of the same size.
She glues all these cubes together, to build a big cube. Which of the cubes below can be the one she
built?

H Mapia €xet akpiBwe 10 AeukoU¢ kKUBOoUC, 9 avolkTou yKpilou XpwHatog KUBoUC Kal 8 okoUPoUG
vkpiloug kUBouc, oL omoliol €xouv To 610 péyebog.

KoAAnoe 6Aoug autouc Toug KUBoUC padl yLa Vo KATOOKEUAOEL £val LEYAAO KUBO. MoLog amo Toug
TMAPAKATW KUPBOUC pmopel va givat o KUBOG TTOU KOTAOKEVAOE;

12. Anna wants to walk 5 km on average each day in March. At bedtime on 16th March, she realised
that she had walked 95 km so far. What distance does she need to walk on average for the
remaining days of the month to achieve her target?

H Avva B€AeL va mepmathoet 5 XIALOUETpA KOTA LECO Opo KABE pépa Tov Maptio. Katd thv wpa tou
Umvou oti¢ 16 Maptiou ouveldntomnoinoe ot eixe mepmatroel 95 YIMOUETPA LEXPL OTLYHUAG.

Mola amootacn XPELAIETAL VA TIEPTIOTHOEL KATA PLEGO OPO YLO. TLC UTTOAOLTIEG NUEPEC TOU HAVA YL va
TETUXEL TO OTOXO TNG;

(A) 5.4 km (B) 5 km (C) 4 km (D) 3.6 km (E) 3.1 km
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13. Which of the following shows what you would see when the object in the diagram is viewed from
above?

Moto amod ta mapakdatw Seiyvel TL Ba deite 6TAV TO AVIIKEILEVO 0TO SLAypApa TO BAETOUE Ao
TIOVW;

14. Every pupil in a class either swims or dances. Three fifths of the class swim and three fifths
dance. Five pupils both swim and dance. How many pupils are in the class?

KaBe pabntnc oe pla tan eite KOAUUMA gite xopeLel. Ta Tpla MEUMTA TNG TAENG KOAUUTOUV Kal Ta
Tpla méumra xopevouv. Mévte pabnTtég KOAUUTOUV Kat xopeUouv. Moool pabntég Bpiokovtal otnv
Tagn;

(A)15 (B)20 (C)25 (D)30 (E)35

15. Sacha's garden has the shape shown. All the sides are either parallel or perpendicular to each
other. Some of the dimensions are shown in the diagram. What is the perimeter of Sacha's garden?
O kAmoc¢ tou ZapPa €xeL to oxNua ou daivetat. OAeg oL MAEUPEG eival elte MapdAAnAeg eite
KABeTEC PETALL TOUC. Oplopéveg amd Ti¢ Slaotdoels epdavilovral oto didypappa. Mola ival n
TEPLUETPOG TOU gﬁnou ToU ZAapBPRa;

—

A

»

w

= ————

(A)22 (B)23 (C)24 (D)25 (E)26
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16. Andrew buys 27 identical small cubes, each with two adjacent faces painted red. He then uses all
of these cubes to build a large cube. What is the largest number of completely red faces of the large
cube he can make?

O Avépéag ayopalel 27 i8Loug UkpoUC KUPBouUC, 0 KaBEvag e U0 YEITOVIKEG E6peG BOUMEVEG
KOKKLVEC. 2T OUVEXELA XPNOLUOTOLEL OAOUC aUTOUC TOUC KUBOUG yLa VA KOTAOKEUAOEL €va UeyAAo
KUPo. Molog eival o peyaAlTepog aplOUOG amo evieAwS KOKKLVEG £6PEG TOU EYAAOU KUBOoU Tou
uropel va kavel;

(A)2 (B)3 (C)4 (D)5 (E)6

17. A large square consists of four identical rectangles and a small square. The area of the large
square is 49 cm? and the length of the diagonal AB of one of the rectangles is 5 cm.
What is the area of the small square?
‘Eva HeyAAo TETPAYWVO QTTOTEAELTAL ATIO TECOEPQ TTAVOUOLOTUTIAL 0OpBoywVLa KAl EVOl UKPO
TETPAYwWVO. To epPadd Tou peydAou TeTpaywvou eivar 49 cm? Kat to PKog TnE Staywviou AB evdg
ano ta opBoywvia eivat 5 cm. Moto gival To epPado Tou UIKPoU TETPAYWVOU;

B

(A) 1 cm? (BY4cm? (C)9cm? (D)16cm?  (E)25cm?

18. Werner's salary is 20% of his boss's salary. By what percentage is his boss's salary larger than
Werner's salary?

O uLoB6¢ tou Niko givat 20% tou PeBoul Tou ageviikol tou. N6co MooooTo HeyaAUTEPOC lval 0
ULoB0OC Tou adpeVTIKOU og oxEon e To HoBo tou Nikou;

(A)80%  (B)120%  (C) 180% (D) 400% (E) 520%

19. Irene made a "city" with identical wooden cubes. One of the diagrams shows the view from
above the "city" and the other the view from one of the sides. However, it is not known from which
side the side view was taken. What is the largest number of cubes that Irene could have used?

H Elprvn £kave pia "moAn" pe mavopolotunoug E0ALVoOUC KUBouC. Eva amd ta Staypappota Ssixvet
v oYin amd mavw amd tnv "moAN" kot n aAn thv oPn ano pia amno T mAeupec. Qotoco, Sev ival
YVWwoté amnd nola MAeupd €yve n mAguptkn oUn. Motog eival o peyaAltepog aplBuodg kUBwv mou Ba
uropoloe va XxpnolomnolioeL n Ewprvn;

(A)25 (B)24 (C)23 (D)22 (E)21
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20. Aisha has a strip of paper with the numbers 1, 2, 3, 4 and 5 written in five cells as shown.

She folds the strip so that the cells overlap, forming 5 layers.

H Avtpn €xel o Awpida xaptiov pe toug aplbpoic 1, 2, 3, 4 kol 5 ypoUEVOUC O TTEVTE KEALA OTIWG
dalvetal. AuTAwvel T Awplda £T0L WOTE Ta KEALA va eTUKOAUTITOVTAL, OXNUOT{oVToC 5 OTpWHATA.

11213145

Which of the following configurations from top layer to bottom layer, is it not possible to obtain?
Mola armo TI§ MapaKATW SLAUOPPWOELG ATO TO EMAVW CTPWHA OTO KATW OTpWHa, Sev elval Suvatd
va dnuloupynOei;

(A)3,5,4,2,1 (B)3,4,5,1,2 (C)3,2,1,4,5 (D)3,1,2,4,5 (E)3,4,2,1,5
5 point problems (Geéuata 5 povadwv)

21. Twelve coloured cubes are arranged in a row.

There are 3 blue cubes, 2 yellow cubes, 3 red cubes and 4 green cubes but not in that order.

There is a yellow cube at one end and a red cube at the other end. The red cubes are all touching.
The green cubes are also all touching. The tenth cube from the left is blue.

What colour is the cube sixth from the left?

Awdeka xpwpoatiotol kKUPBoL eival Slatetaypévol os oelpd. Yrapyxouv 3 pmmAe kUBoL, 2 kitpvol kKUPoL,
3 KOKKLVOL KUBoL KoL 4 Ttpdotvol KUBoL aA\d OXL e auTh Th oelpd. YIapxeL évog Kitplvog KUBog oto
£val AKPO KoL £VOg KOKKLVOG KUBOG oto Ao akpo. DAoL oL KOKKLvoL KUBoL ayyilouv LeTaty Toug.
‘OMot oL mpaocivol kUPBot ayyilouv kat autol petaél Toug. O §ékatog KUBOG amo ta apLlotepd eival
MTAE. TLXpwHA glval o £KToG KUBOG amod Ta aploTepd;

(A) green (B) yellow (C) blue (D) red (E) red or blue
(A) mpaowog  (B) kivtptvog  (C) umAé (D) KOKKLVOG (E) KOKKLVOG 1] UTTAE

22. Zaida took a square piece of paper and folded two of its sides to the diagonal, as shown, to
obtain a quadrilateral. What is the size of the largest angle of the quadrilateral?

H Zwn mnpe éva TETpAYWVO KOUATL XOPTL Kot Suthwvel SU0 amo TIg MAEUPEG TOU ot SlaywvLo,
onw¢ daiveral, yla va mapet £va TeTpAnAeupo. MNolo sival to péyebog tng peyalutepng ywviag Tou
TETPAMAEUPOU;

/

(A)112,5° (B) 120° (C) 125° (D) 135° (E) 150°
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23. How many four-digit numbers A are there, such that half of the number A is divisible by 2, its
third is divisible by 3, and the fifth is divisible by 5?

Noéoa tetpandLla voupepa A uTtapxXouV, £TCL WOTE TO KLOO TOU aplBuol A Statpeital pe 2, to éva
Tpito Tou Slatpeital pe 3 KoL To Eva TEUMTO Slalpeital Ye To 5;

(A)1 (B)7

(€()9 (D)10 (E)11

24. In the final of the dancing competition, each of the three members of the jury gives the five
competitors 0 points, 1 point, 2 points, 3 points or 4 points. No two competitors get the same mark
from any individual judge. Adam knows all sums of the marks and a few single marks, as shown.
How many points did Adam get from judge 111?

JTOV TEAIKO TOU SloywvIoUoU XopoU, KaBgva amod ta tpio LEAN TNC KPLTIKAG ETLTPOTING Sivel oToug 5
aBANntég 0 movroug, 1 moévto, 2 mMovToug, 3 MOVIOUG i} 4 TOVTOUG.

Kavévag amno toug U0 avtaywvioteg dev maipvel tnv dla Babuoloyia amd omolovdnmoTe KPLTH.

O Adam yvwpilel 6Aa ta cuvoAa(sum) Twv Babpoloylwy Kal LEPLKEG LEUOVWUEVEG BaBuoAoyieg,
onwcg ¢alvetal. Nocouc movroug mHpe o AdAau amo tov kputn ll;

Adam/Adau | Berti/Beptng | Clara/Khapa | David/AaBis | Emil/Aipiiiog
| 2 0
Il 2 0
1
Sum/30volo 7 5 3 4 11
(A)JO (B)1 ()2 (D)3 (E)4

25. Saniya writes a positive integer on each edge of a square. She also writes at each vertex the
product of the numbers on the two edges that meet at that vertex. The sum of the numbers at the
vertices is 15. What is the sum of the numbers on the edges of the square?

H ZoUAa ypadel éva BeTikO aképalo o KABe MAsUPA VoG TeETpaywvou. Mpadel eniong os kabe
KopU I TO YIVOUEVO TwV 0pLOUWY TwV SU0 MAEUPWV TOU CUVAVTWVTAL O KElvn TNV KOpUu D).

To aBpolopa Twv aplBuwyv otic kopudEég eivat 15. Moto sival to abpolopa Twv aplBpwy oTLg
TIAEUPEG TOU TETPAYWVOU;

(A)6 (B)7

(C)8 (D)10 (E)15

26. Sophia has 52 identical isosceles right-angled triangles. She wants to make a square using some
of them. How many different sized squares can she make?

H Zodia €xel 52 mavopolotuTia LoooKeAr opBoywvia Tplywva. OEAEL va KAVEL EVa TETPAYWVO
XPNOLLOTIOLWVTAC KATIOLA Ao aUTd. Mooa SladopeTika o PEyeBOG TETPAYWVA UMOPEL VA KAVEL;
(A)6 (B)7 (C)8

(D)9 (E) 10
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27. Cleo builds a pyramid with metal spheres. The square base consists of 4 X 4 spheres as shown in
the figure. The floors consist of 3 X 3 spheres, 2 X 2 spheres and a final sphere at the top.

At each point of contact between two spheres, a blob of glue is placed. How many blobs of glue will
Cleo place?

O KAéapyog xtilel pla mupopida pe petodAikég odaipes. H tetpdywvn Baon amoteleital and 4 x 4
odaipeg onwe daivetal oto oxnpa. Ta daneda anotehovuvtal and 3 x 3 adaipeg, 2 x 2 odaipeg Kat
pLa Tedkn odaipa otnv kopudr). 2e kaBe onpeio emadng petaty dvo odalpwy, TonobeTeltal pia
otpwon kKOAAac. Mooeg otpwoelg KOAAaC Ba tomobetrosl o KAéapxoc;

(A)72 (B)85 (C)88 (D)92 (E)96

28. Four children are in the four corners of a 10 m X 25 m pool. Their trainer is standing
somewhere on one side of the pool. When he calls them, three children get out and walk as short a
distance as possible round the pool to meet him. They walk 50 m in total. What is the shortest
distance the trainer needs to walk to get to the fourth child?

Téooepa maldLa Bplokovtal oTIg TECOEPLC YWVIEC pLag Tiolvag 10 m x 25 m. O ekmaldeuTr ¢ TOUG
OTEKETOL KATOU oTN pia MAeupd tn¢ uoivag. Otav toug KaAel, Tpia maldia Byaivouv kat mepnatolv
N UKPOTEPN SuvaTtr AmoOoTacn KOVIA 0T TLolva yLa va Tov cuvavtioouy. Nepratouv 50 pétpa(m)
OUVOALKA. Mola elval n ULKPOTEPN AMOOTACN TIOU XPELAZETAL O EKTIALOEUTNG VA TIEPTIATAOEL YLOL VAL
¢dtdoeL oto TETapTo TaLdi;

(A) 10 m (B) 12 m (C) 15 m (D)20m (E)25m

29. Anne, Boris and Carl ran a race. They started at the same time, and their speeds were constant.
When Anne finished, Boris had 15 m to run and Carl had 35 m to run. When Boris finished, Carl had
22 m to run. What is the distance they ran?

H Avva, o MmtopLc kat o KapA £€tpe€av évav aywva. Apxloav Tautdxpova Kal oL TaxUTNTEG Toug ATav
otaBepéc. Otav tedsiwos n Avva, o MmopLg eixe 15 pétpay(m) va tp£€et kat o KapA sixe 35 pétpa(m)
yla va Tpg€el. Otav tedeiwoe o Mmdplg, o Carl eixe 22 pétpa(m) va tpétel. Mola sival n amootacn
mou £tpetay;

(A) 135 m (B) 140 m (C) 150 m (D) 165 m (E) 175 m
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30. The statements below give clues to the identity of a four-digit number.
Ot mapakatw SnAwoelg 6lvouv evlelfelg yla Tnv TauToTNTA EVOC TETpaYRdLOU aplBpoU.

(~] o] [o] [»

7

(] [~

0

[~

6

3

)

7

]

4

2

o]

9

| |

2

Two digits are correct but in wrong places.

One digit is correct and in the right place.

Two digits are correct with one of them being in the
right place and the other one in the wrong place

One digit is correct but in the wrong place

None of the digits are correct

Avo Pndia eival owotd aAAa oe AaBog B€aon.

‘Eva Pnodio eival cwotod kat otn owotr B€on.

AVo Pndia gival cwotd pe éva va eival otn
owotr) B€on kot To dAAo o€ AaBog B€an.

‘Eva Pndio eival cwotd aAa os AdBocg B£on

Kavéva and ta Pndia Sev sival owotd

What is the last digit of the four-digit number?
Moto eivat To teAeutaio Yndio tou tetpaPridlov apbuou;

(A) O

(B) 1

() 3

10




